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16 HFE EZ 38 39 77 90 680
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3L RH = 39 38 77 80 690
AL /M EX 33 35 68 +20 700
5 MH E& 42 42 84 120 720
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1564 KT #H-— 43 43 8 100 76.0
1660 B4 B 43 45 88 110 770
174 £H B 44 43 87 100 770
184 ®ME FiE 43 44 87 100 770
19460 kH HHE 40 42 82 50 7710
201 EiE BT 46 43 89 120 710
2161 S FF 46 44 90 120 780
226 REMWMERE 43 48 91 110 800
231 fEk M= 46 44 90 80 820
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A &7k ItH 41 45 86 140 720
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ofy A B= 40 48 88 150 730
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1560 HH W 44 44 88 130 750
1640 LA B 46 46 92 170 750
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2161 A 47 48 95 170 780
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2561 T _1EH 56 50 106 240 820
26 i1 0K 153X 54 61 115 320 830
27461 /it 3E 53 45 98 150 830
28 #EH FE— 46 50 96 130 830
291 1giE RE 49 56 105 220 830
061 Kt = 53 49 102 170 850
316 L EER 52 57 109 220 870
3241 it 1BEE 55 54 109 200 890
BHL M| 52 57 109 19.0 900
MHL KFE KB 57 53 110 200 900
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